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Honors Pre-Calculus Unit 1 Test Review Sheet

1. Find the domain of the following functions
2 2

a. f(x)=x*+2x+1 b. f(x) = P ¢ f(x) = B

(- 00.00) (-0,0)V(0,5)U(50) (-c0,-8B)ESB, )
2. Graph the functions

a y=(x+3)?2-4 b.y=—i—2 c.y = log(—x) —3

3 '.
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3. Analyze the functions -
a y=((x+13-5 b.y = =3|x| - c.y=7e* +3
Domain: _ (= co, w\ Domain: ("’Wn 00) Domain: _ (= co, 00)
Range:_{' w: OO\ Range: (" w "‘1 Range: (3'. »)
Continuous: £oNhnNUVWS Contmuous."”‘hngﬂ\&é Continuous: £onh nuow S
Symmetry: None Symmetry: € V‘V\ Symmetry: N ond
Inc/Dec: (-00, ) Inc/Dec:ine ('w 0) Declo w\ Inc/Dec: (- 00, w)
Bounded: None Bounded: a'bWL Bounded: ﬂdbm
Extrema: N one Extrema: A0S Max (’, ) Extrema: _IN 0V
Asymptotes: N OV\L Asymptotes: “MC Asymptotes: q =3
End Behav1or 'im 6‘#0"’ S 280 End Behavior: i) =3lyd=¥#-68 51,4 Behavior: “M 1¢%3=0
_"1_'7-5__4»— luLSrl 4y=-0c0 lim “1e* +3=3
4. Reflect the following functlons over the x and y axis K= -eb
a. f(x)= —3x3+4x*—-9x—6 b. f(x) = %
%-axis L $(x) < 3&3-"&:* L " L6 = —Lxy ¥ —1
y-awis: ¥C£)--3(-x)+4(-¥) =xI-b 8%x-2
= 3x T+ Uk rax-b g 0 = lox e ux\
-3x-2
5. Determine if the function is continuous. If not, state the type of discontinuity.
a. y= i b.y= 79 c. y = —sin(4x) d. y = 7int(x) — 3

2x+3

lnﬁmn point ontinwous  Jump




6. Find the composition of functions and then evaluate the given function.

a. f(x) =2x-5 g(x) =x%-9 b. f(x) = Vvx—=5 g(x) =6e*

i f(g(x)= > q\ _ . f(9(x) =
TV YD futs
=2x =23

i. g(f(x) = (2:-5)‘-4 i. g(f(x) = b CJ""S
=Yy 20X+ 10

a (G-
iii. f(g(-2)= 2(-2)-273 . gfGN= e =
=-’5 - b

7. Decompose the functions: find f(x) and g(x) if h(x) = f(g(x))  *there are multiple answers

a h(x) = 6x2-5 b. h(x) = Ll ¢ h(x) = V5x ¥ 2 —
o = _%=§ o = I fo - % =7
g(x) = J.l*z g(x) = x3 -1 g(x) = 5x+2
8. Write the function that has the following characteristics: 2
a. Quadratic: Shifted left 2, reflect over x axis, up 5 % - "(x + 2) + S-

b. Reciprocal: Vertical stretch 6, reflect over y axis, right 7 % = -— | +1
Reflect x-awis, left+ g,

c. Write the transformations: w(x) = —vVx —3+ 4
w'(x) = Z\/x+ -2 verpcal Sh[|&h of 3[ 4,

down
9. Find the inverse of the following functions
a. y =5x—4 b.y = Zx_;lc c. Evaluate y~1(2) if
*=5y-4 K= 2y +) = Vax+1
¥+y= 55 u..‘], x ‘J‘i "’\ x‘,'
bx- —234‘ "'ls-tl 5 ‘= T‘-
- 2)
-1 _ .t-'i x=l= jh)“ o -1 -1 _2
Yy=195 g,:lgtz .‘(Z)zq
e J

10. Prove the functions are inverses ysing composition. f(x) = oy gx) = e

s = (e )43 "It ‘3“"’) 5( 2)+3
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